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Additions-Soustractions de dizaines et centaines Nom:
Remplir le blanc pour résoudr e chaque probléme.
133+10= 394 -10= 371+ 100 = 206 - 100 =
504 + 10 = 921-10= 723+ 100 = 308 - 100 =
821+10= 305-10= 770 + 100 = 125-100=_
336+ 10= 484 - 10 = 417+ 100 = 596 - 100 =
791+10= 834-10= 683 + 100 = 923 - 100 =
57+10=_ 804-10= 423 + 100 = 751-100=
169 + 10 = 552-10= 422 + 100 = 145 - 100 =
111+ 10= 606 - 10 = 575 + 100 = 520 - 100 =
378+10= 256 - 10 = 477 + 100 = 250 - 100 =
585 + 10 = 261-10= 274 + 100 = 676 - 100 =
958 + 10 = 571-10= 558 + 100 = 769 - 100 =
848 + 10 = 268 - 10 = 90 + 100 = 500 - 100 =
453+ 10 = 301-10= 88 + 100 = 430- 100 =
838+ 10 = 818-10= 30+ 100 = 878 - 100 =
272+10= 403-10= 39+100= 941 - 100 =
291+10= 797-10= 894 + 100 = 733-100=
627 + 10 = 20-10=_ 869 + 100 = 529 - 100 =
745+ 10 = 190-10= 74+ 100 = 564 - 100 =
713+10= 612-10= 96 + 100 = 486 - 100 =
705+ 10 = 955- 10 = 717 + 100 = 885 - 100 =
134+ 10= 734-10= 350 + 100 = 991 - 100 =
852 + 10 = 358-10= 617 + 100 = 212-100=
433+10= 499-10= 293 +100 = 696 - 100 =
478 + 10 = 496 - 10 = 536 + 100 = 321 -100 =
684 + 10 = 947 -10= 579+ 100 = 980 - 100 =
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Additions-Soustractions de dizaines et centaines Nom Clé
Remplir le blanc pour résoudr e chaque probléme.
133+10=_ 143 394-10= 384 371+100=_ 471 206-100=_ 106
504+10= 514 921-10=_ 911 723+100= 823 308-100=_ 208
821+10= 831 305-10=_ 295 770+100= 870 125-100= 25
336+10=_ 346 484-10= 474 417 +100= 517 596 - 100=_ 496
791+10= 801 834-10=_824 683+100= 783 923-100=_ 823
57+10= 67 804-10=_ 794 423+100=_ 523 751-100=_ 651
169+ 10= 179 552-10= 542 422 +100= 522 145-100= 45
111+10=_ 121 606-10=_ 596 575+100=_ 675 520-100=_ 420
378+10= 388 256-10= 246 477+100= 577 250-100=_ 150
585+ 10= 595 261-10= 251 274+100= 374 676-100=_ 576
958 +10= 968 571-10= 561 558 +100= 658 769-100=_ 669
848+10= 858 268-10= 258 90+100= 190 500- 100=_ 400
453+10=_ 463 301-10=_ 291 88+100= 188 430-100= 330
838+10= 848 818-10= 808 30+100= 130 878-100= 778
272+10=_ 282 403-10=_ 393 39+100=_ 139 941-100=_ 841
291+10=_ 301 797-10= 787 894 +100= 994 733-100=_ 633
627+10= 637 20-10=__ 10 869 +100=_ 969 529-100=_ 429
745+10= 755 190-10=_ 180 74+100=_ 174 564 - 100=__ 464
713+10= 723 612-10=_ 602 96+100= 196 486-100= 386
705+ 10= 715 955-10= 945 717+100= 817 885-100=_ 785
134+10= 144 734-10=_ 724 350+100= 450 991-100= 891
852+10=_ 862 358-10= 348 617 +100=_ 717 212-100=_ 112
433+10=_ 443 499-10= 489 293+100= 393 696-100=_ 596
478+10= 488 496-10= 486 536+100= 636 321-100=_ 221
684+10=_ 6% 947-10= 937 579+100= 679 980-100=_ 880
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